Fiber Optic Cable Hardware

r AFL

FIBER OPTIC CABLE HARDWARE

OPGW Single Dead End Lattice Tower Configuration Assemblies

\ 7

\

TO SPLICE BOX

Bill of Material

AFL NO.

OLTDE1 | — | DNOXXXX |
[ I

Assembly Code Cable Spec. Number

ITEM DESCRIPTION MATERIAL | AFL OR DWG. NO. | REQ'D REMARKS
1 | Socket Eye Galvanized Steel | SE-BDE 1
2 | Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
3 | Bolted Dead End Aluminum Determined by AFL 1
(Included)
P AFL NO.
OLTDE2 | — | DNOXXXX
I I
Assembly Code Cable Spec. Number
TO SPLICE BOX
A\ Bill of Material
ITEM DESCRIPTION MATERIAL | AFL OR DWG. NO. | REQ'D REMARKS
1 | Link Plate Aluminum ODELP10 1
2 | Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 | Bolted Dead End Aluminum Determined by AFL 1
(Included)

AFLglobal.com | 800.235.3423

154

continued
—>

© 2008, AFL, all rights reserved. PP-3-00035, Revision 2, 1.12.2021
Specifications are subject to change without notice.



r AFL

FIBER OPTIC CABLE HARDWARE

OPGW Single Dead End Lattice Tower Configuration Assemblies (cont.

AFL NO.
| OLTDE3 | — | DNOXXXX |
I I
Assembly Code  Cable Spec. Number
TO SPLICE BOX
\ Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 | Link Plate Aluminum ODELP10 1
2 | Y-Clevis Clevis 90 Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
3 | Bolted Dead End Aluminum Determined by AFL 1
(Included)

AFLglobal.com | 800.235.3423

© 2008, AFL, all rights reserved. PP-3-00035, Revision 2, 1.12.2021
Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

rAFL

FIBER OPTIC CABLE HARDWARE

OPGW Single Dead End Wood Pole/H-Frame Configuration Assemblies

4\
i

5

Bill of Material

AFL NO.

| OWPDE1 |-| DNOXXXX |

Assembly Code

Cable Spec. Number

ITEM DESCRIPTION MATERIAL AFLORDWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 1
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
> 3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 1 Length = 14"
4 3/4" Washer Nut Galvanized Steel | WN-3/4 1
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 1
6 Bolted Deadend (Included) | Aluminum Determined by AFL 1
<>
4 3
A Py
H—0® CHE————— AFL NO.
5 \2 6 | oOwPDE2 |-| DNOXXXX |
| |
Assembly Code Cable Spec. Number
Bill of Material
ITEM DESCRIPTION MATERIAL AFL ORDWG.NO. | REQ'D REMARKS
<O 1 Link Plate Aluminum ODELP10 1
2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 1 Length = 14"
4 3/4" Washer Nut Galvanized Steel | WN-3/4 1
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 1
6 Bolted Deadend (Included) | Aluminum Determined by AFL | 1

AFLglobal.com | 800.235.3423

156

continued
—>

© 2008, AFL, all rights reserved. PP-3-00048, Revision 2, 2.8.2021
Specifications are subject to change without notice.



rAFL

FIBER OPTIC CABLE HARDWARE

OPGW Single Dead End Wood Pole/H-Frame
Configuration Assemblies (cont.

Bill of Material

AFL NO.
OWPDE3 |- | DNOXXXX
I I
Assembly Code Cable Spec. Number

Bill of Material

ITEM DESCRIPTION MATERIAL AFL ORDWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 1
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
3 Eye Plate Galvanized Steel | EP1 1
4 3/4" Washer Nut Galvanized Steel | WN-3/4 2
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2
6 3/4" MF Through Bolt Galvanized Steel | TB-3/4-14 2 Length = 14"
7 Bolted Deadend (Included) | Aluminum Determined by AFL | 1
AFL NO.
OWPDE4 |-| DNOXXXX
| |
Assembly Code Cable Spec. Number

ITEM DESCRIPTION MATERIAL AFL ORDWG.NO. | REQ'D REMARKS

1 Link Plate Aluminum ODELP10 1

2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 3/4" MF Through Bolt Galvanized Steel | TB-3/4-14 2 Length = 14"

4 3/4" Washer Nut Galvanized Steel | WN-3/4 2

5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2

6 Eye Plate Galvanized Steel | EP1 1

7 Bolted Deadend (Included) | Aluminum Determined by AFL 1

AFLglobal.com | 800.235.3423

157

© 2008, AFL, all rights reserved. PP-3-00048, Revision 2, 2.8.2021

Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

rAFL

OPGW Single Dead End Steel Pole/Drilled Configuration Assemblies

FIBER OPTIC CABLE HARDWARE

/
A 3 AFL NO.
LN 2 A
S el g A%O;L{Hﬂ o) —F———————F | OSPDE1_|-| DNOXXXX |
¥ T AN —— =
7 N | [
5 6 Assembly Code Cable Spec. Number
Bill of Material
— ITEM DESCRIPTION MATERIAL | AFL ORDWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 1
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 1 Length = 14"
4 3/4" Washer Nut Galvanized Steel | WN-3/4 1
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 1
6 Bolted Deadend (Included) | Aluminum Determined by AFL | 1
/—
A 3 AFL NO.
ﬂﬂ?ﬁf*“,CD 6 @imﬁm “Hmﬁmﬂmﬂ‘m% | OSPDE2 |-| DNOXXXX |
=TS | |
5/ \ \6 Assembly Code Cable Spec. Number
2

AFLglobal.com | 800.235.3423

Bill of Material

ITEM DESCRIPTION MATERIAL | AFL ORDWG. NO. | REQ'D REMARKS

1 Link Plate Aluminum ODELP10 1

2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 1 Length = 14"

4 3/4" Washer Nut Galvanized Steel | WN-3/4 1

5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 1

6 Bolted Deadend (Included) | Aluminum Determined by AFL | 1

158

continued
—>

© 2008, AFL, all rights reserved. PP-3-00040, Revision 2, 2.5.2021
Specifications are subject to change without notice.



q Fl FIBER OPTIC CABLE HARDWARE

OPGW Single Dead End Steel Pole/Vang Configuration Assemblies

/
2 o'  momomomom o m o m AFLNO.
e——1[® T
FL | OSPDE3 |-| DNOXXXX |
I I
Assembly Code Cable Spec. Number
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 1
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 1
/
1 AFL NO.
) i y om N H ia N = H ia N = H ou N
[ [ N F | oSPDE4 |-| DNOXXXX |
| |
2 3 Assembly Code Cable Spec. Number
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 1
2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 1
continued
—
AFLglobal_com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00040, Revision 2, 2.5.2021

159 Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

r AFL

OPGW Single Dead End Steel Pole/Vang Configuration Assemblies (cont.

—]

AFLglobal.com | 800.235.3423

FIBER OPTIC CABLE HARDWARE

AFL NO.

| OSPDE5 |-| DNOXXXX |
I

AS
3 Assembly Code Cable Spec. Number
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 1
2 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 1

160

© 2008, AFL, all rights reserved. PP-3-00040, Revision 2, 2.5.2021
Specifications are subject to change without notice.



FAFL FIBER OPTIC CABLE HARDWARE

OPGW Double Dead End Lattice Tower Configuration Assemblies

AFL NO.

| oLTDD1 | — | DNOXXXX |
I

[
Assembly Code Cable Spec. Number

Bill of Material

ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1| Socket Eye Galvanized Steel | SE-BDE 2
2 Y-Clevis Ball Hot Link | Galvanized Steel | YCBHL 2 Pin Dia. = 0.75" (19 mm)
3 | Bolted Dead End Aluminum Determined by AFL 2
(Included)

AFL NO.

| oLTDD2 | — | DNOXXXX |
I

I
Assembly Code Cable Spec. Number

Bill of Material

ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 2
2 | Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75" (19 mm)
3 | Bolted Dead End Aluminum Determined by AFL 2
(Included)
continued
—
AFLglobal.com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00033, Revision 2, 1.12.2021

161 Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

PAFI FIBER OPTIC CABLE HARDWARE

OPGW Double Dead End Lattice Tower Configuration Assemblies (cont,)

— S X a B E———,— AFL NO.

| oLTbD3 | — | DNOXXXX |
I I
Assembly Code Cable Spec. Number

TO SPLICE BOX

Bill of Material

ITEM DESCRIPTION MATERIAL | AFL OR DWG. NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 2
2 | Y-Clevis Clevis 90 Galvanized Steel | YCC-90 2 Pin Dia. = 0.75" (19 mm)
3 | Bolted Dead End Aluminum Determined by AFL 2
(Included)
AFLglobal.com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00033, Revision 2, 1.12.2021

162 Specifications are subject to change without notice.



q Fl FIBER OPTIC CABLE HARDWARE

OPGW Double Dead End Wood Pole/H-Frame Configuration Assemblies

AFL NO.

| OWPDD1 |-| DNOXXXX |
I I

Assembly Code Cable Spec.
Number
TO SPLICE BOX
4

Bill of Material

ITEM DESCRIPTION MATERIAL AFL ORDWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 2

2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 2 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 2 Length = 14"

4 3/4" Washer Nut Galvanized Steel | WN-3/4 2

5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2

6 Bolted Deadend (Included) | Aluminum Determined by AFL | 2

B e e e e i O
[ J AFL NO.
P ' S i i e i s SO
‘ 16/ [ owPDD2 |-[ DNOXXXX |
| |
Assembly Code Cable Spec. Number
TO SPLICE BOX
A\
Bill of Material
ITEM DESCRIPTION MATERIAL AFL ORDWG. NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 2
4 3/4" Washer Nut Galvanized Steel | WN-3/4 2
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2
6 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
continued
—_—
AFLglobal_com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00046, Revision 2, 2.8.2021

163 Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

rAFL

OPGW Double Dead End Wood Pole/H-Frame

Configuration Assemblies (cont.

FIBER OPTIC CABLE HARDWARE

45 6
< __mm e o a e
[ |
\8 AFL NO.
| owPDD3 |-| DNOXXXX |
e | |
[ : Assembly Code Cable Spec. Number
TO SPLICE BOX
TO SPLICE BOX
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 2
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 2 Pin Dia. = 0.75" (19 mm)
3 Eye Plate Galvanized Steel | EP1 2
4 3/4" Lock Washer Nut Galvanized Steel | LW-3/4 4
5 3/4" Nut Galvanized Steel | HN-3/4 4
6 3/4" Flat Washer Galvanized Steel | FW -3/4 4
7 3/4" Through Bolt Galvanized Steel | TB-3/4-14 4 Length = 14"
8 Bolted Deadend (Included) | Aluminum Determined by AFL |2
5 6 7
i o o omomomoo oo AFL NO.
T T
M [ owPDD4 |- DNOXXXX |
I I
mom @ @ @ @ om Assembly Code Cable Spec. Number
[ 1
TO SPLICE BOX
TO SPLICE BOX
of Material
ITEM DESCRIPTION MATERIAL | AFLORDWG.NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75" (19 mm)
3 3/4" Through Bolt Galvanized Steel | TB-3/4-14 4 Length = 14"
4 3/4" Flat Washer Galvanized Steel | FN-3/4 4
5 3/4" Nut Galvanized Steel | HN-3/4 4
6 3/4" Lock Washer Galvanized Steel | LW-3/4 4
7 Eye Plate Galvanized Steel | EP1 2
8 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
continued
—
AFLglobal_com | 800.235.3423 - © 2008, AFL, all rights reserved. PP-3-00046, Revision 2, 2.8.2021

Specifications are subject to change without notice.



q Fl FIBER OPTIC CABLE HARDWARE

OPGW Double Dead End Wood Pole/H-Frame
Configuration Assemblies (cont)

AFL NO.

| owPDD5 |-| DNOXXXX |
I I

iHHHHEHE

Assembly Code Cable Spec. Number
Bill of Material
ITEM DESCRIPTION MATERIAL AFLOR DWG. NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 2
2 | Y-Clevis Clevis 90° Galvanized Steel | YCC-90 2 Pin Dia. = 0.75" (19 mm)
3 | 3/4" Through Bolt Galvanized Steel | TB-3/4-14 4 Length = 14"
4 | 3/4" Flat Washer Galvanized Steel | FN-3/4 4
5 3/4" Nut Galvanized Steel | HN-3/4 4
6 | 3/4" Lock Washer Galvanized Steel | LW-3/4 4
7 | EyePlate Galvanized Steel | EP1 2
8 | Bolted Deadend (Included) | Aluminum Determined by AFL 2
AFLglobal_com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00046, Revision 2, 2.8.2021

165 Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

rAFL

FIBER OPTIC CABLE HARDWARE

OPGW Double Dead End Steel Pole/Drilled Configuration Assemblies

54 3 2 1
— J AFL NO.
6
| OSPDD1 |-| DNOXXXX |
i 1 [ [
Assembly Code Cable Spec. Number
To Splice Box
To Splice Box
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 2
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 2 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 2
4 3/4" Washer Nut Galvanized Steel | WN-3/4 2
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2
6 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
e i i i i 9
i ] AFL NO.
6
| osPDD2 |-| DNOXXXX |
i ) I I
Assembly Code Cable Spec. Number
To Splice Box
To Splice Box 1
\
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 2
4 3/4" Washer Nut Galvanized Steel | WN-3/4 2
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2
6 Bolted Deadend (Included) | Aluminum Determined by AFL |2

AFLglobal.com | 800.235.3423 s

continued
—>

© 2008, AFL, all rights reserved. PP-3-00038, Revision 2, 2.5.2021

Specifications are subject to change without notice.



rAFL

OPGW Double Dead End Steel Pole/Vang Configuration Assemblies

TO SPLICE BOX 2\

o

w

FIBER OPTIC CABLE HARDWARE

I4

TO SPLICE BOX

Bill of Material

AFL NO.

| osPDD3 |-| DNOXXXX |

Assembly Code

Cable Spec. Number

AFLglobal.com | 800.235.3423

TO SPLICE BOX \

ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS

1 Socket Eye Galvanized Steel | SE-BDE 2

2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 2 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 2

4

/

TO SPLICE BOX

Bill of Material

AFL NO.

| osPDD4 |-| DNOXXXX |

Assembly Code

Cable Spec. Number

ITEM DESCRIPTION MATERIAL | AFL ORDWG.NO. | REQ'D REMARKS

1 Link Plate Aluminum ODELP10 2

2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 2

167

continued
—>

© 2008, AFL, all rights reserved. PP-3-00038, Revision 2, 2.5.2021

Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

PAFI FIBER OPTIC CABLE HARDWARE

OPGW Double Dead End Steel Pole/Vang Configuration Assemblies (cont)

1 - AFL NO.
3
| osPDD5 |-| DNOXXXX |
I I
Assembly Code Cable Spec. Number
TO SPLICE BOX [T T //p TOSPLCEBOX
Bill of Material
ITEM DESCRIPTION MATERIAL | AFL OR DWG. NO. | REQ'D REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 2 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
AFLglobal.com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00038, Revision 2, 2.5.2021

168 Specifications are subject to change without notice.



r FIBER OPTIC CABLE HARDWARE

OPGW Single Suspension Lattice Tower Configuration Assemblies

AFL NO.

| oLrsP1 | —| xxx/xxx |
I

I
Assembly Code ~ SUME Range Code

Bill of Material

ITEM | DESCRIPTION MATERIAL | AFL OR DWG. NO. | REQ'D REMARKS
1 | Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
2 | Socket Eye Galvanized Steel | SE-SC 1
3 |Suspension Clamp | Aluminum SUME XXX/XXX 1
Assembly (Included)
AFL NO.

| oLrsp2 | —| xxx/xxx |
|

[
Assembly Code SUME Range Code

Bill of Material

ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 | Y-Clevis Eye 90° Galvanized Steel | YC90E-750-1750 1 Pin Dia. = 0.75" (19 mm)
2 |Suspension Clamp | Aluminum SUME XXX/XXX 1
Assembly (Included)
continued
—
AFLglobal.com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00036, Revision 4, 1.12.2021

169 Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

PAFI FIBER OPTIC CABLE HARDWARE

OPGW Single Suspension Lattice Tower Configuration Assemblies (cont.

AFL NO.

| oLrsp3 | — [ xxx/xxx |
I I
Assembly Code SUME Range Code

Bill of Material

ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1| Y-Clevis Eye Galvanized Steel | YCE-690-1125 1 Pin Dia. = 0.75" (19 mm)
2 | Suspension Clamp | Aluminum SUME XXX/XXX 1
Assembly (Included)
AFLglobal.com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00036, Revision 4, 1.12.2021

170 Specifications are subject to change without notice.



q Fl FIBER OPTIC CABLE HARDWARE

OPGW Single Suspension Wood Pole/H-Frame Configuration Assemblies

34.0" APPROX. (863 MM)

3.0" (76 MM)
3 —< > 3
~
= ) o= 063" (16Mv)  AFL NO.
S L — [ owPsP1 |-[ XXX/XXX |
. | |
é | — N Assembly Code SUME Range Code
a- =
< |2 T
PEL =
” NN
ARMOR ROD VIEW Y-Y
A (INCLUDED WITH
SUSPENSION CLAMP)
Bill of Material
ITEM DESCRIPTION MATERIAL AFLORDWG.NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-SC 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
3 Shield Wire Support Bracket Galvanized Steel | SFOSB-WP-14 1 14" Bolt, 0.63" (16 mm) Dia.
4 Suspension Clamp Assembly (included) | Aluminum SUME XXX/XXX 1

34.0" APPROX. (863 MM)

3.0" (76 MM)
0.63" (16 MM
281" ?@r 3 po= (16MM)  AFL NO.
> (71 MM) Y -
Stz ® OWPSP2 |-| XXX/XXX
g |= [ |
= R B’E Assembly Code SUME Range Code
815 <
- ARMOR ROD
(INCLUDED WITH
SUSPENSION CLAMP) VIEW Y-Y
NN
Bill of Material
ITEM DESCRIPTION MATERIAL AFL ORDWG. NO. | REQ'D REMARKS
1 Y-Clevis Eye 90° Galvanized Steel | YC90E-750-1750 1 Pin Dia. = 0.75" (19 mm)
2 Shield Wire Support Bracket Galvanized Steel | SFOSB-WP-14 1 14" Bolt, 0.63" (16 mm) Dia.
3 Susp. Damp Assembley (included) Aluminum SUME XXX/XXX 1
AFLglobal.com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00049, Revision 3, 2.8.2021

m Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

388"

rAFL

FIBER OPTIC CABLE HARDWARE

OPGW Single Suspension Steel Pole/Drilled Configuration Assembly

34.0" APPROX. (863 MM) 3.0" (76 MM)

3 2

T T

[0

5.12"

3.88
{ (9MM)

/(ARMOR ROD .
(INCLUDED WITH VIEW VoY

SUSPENSION CLAMP)

Bill of Material

0.63" (16 MM)

AFL NO.
| ospsP1 |-| XXX/XxX |
[ [
Assembly Code SUME Range Code

ARMOR ROD
(INCLUDED WITH —
SUSPENSION CLAMP)

Bill of Material

ITEM DESCRIPTION MATERIAL | AFL OR DWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-SC 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
3 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt,
0.63" (16 mm) Dia.
4 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
34.0" APPROX. (863 MM)
2 2 29 (76 1M AFL NO.
\ 1 —T TN
_ 3 i 063 (16MM) | OSPSP2 |-| XXX/XXX |
81" I I
Assembly Code SUME Range Code

ITEM DESCRIPTION

MATERIAL

AFL OR DWG. NO.

REQ'D

REMARKS

1 Y-Clevis Eye 90°

Galvanized Steel

YC90E-750-1750

—_

Pin Dia. = 0.75" (19 mm)

2 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt,
0.63" (16 mm) Dia.
3 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)

AFLglobal.com | 800.235.3423 .

continued
—>

© 2008, AFL, all rights reserved. PP-3-00041, Revision 4, 2.5.2021

Specifications are subject to change without notice.




rAFL

OPGW Single Suspension Steel Pole/Vang Configuration Assemblies

FIBER OPTIC CABLE HARDWARE

RS
AFL NO.
| ospspP3 |-| XXX/xxXx |
I I
Assembly Code SUME Range Code
VIEW Y-Y
Bill of Material
ITEM DESCRIPTION MATERIAL | AFL ORDWG. NO. | REQ'D REMARKS
1 Socket Eye Galvanized Steel | SE-SC 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
3 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
34.0" APPROX. (863 MM)
U AFL NO.
| ospspP4 |-| xxx/xxx |
I I
. Assembly Code SUME Range Code
S
=
8
ARMOR ROD
(INCLUDED WITH
SUSPENSION CLAMP) VIEW Y-Y
Bill of Material
ITEM DESCRIPTION MATERIAL | AFL OR DWG.NO. | REQ'D REMARKS
1 Y-Clevis Eye 90° Galvanized Steel | YC90E-750-1750 |1 Pin Dia. = 0.75" (19 mm)
2 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)

AFLglobal.com | 800.235.3423

173

continued
—>

© 2008, AFL, all rights reserved. PP-3-00041, Revision 4, 2.5.2021

Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

3.88" APPROX.

rAFL

FIBER OPTIC CABLE HARDWARE

OPGW Single Suspension Steel Pole/Vang Configuration Assemblies (cont)

34.0" APPROX. (863 MM)

ARMOR ROD
(INCLUDED WITH
SUSPENSION CLAMP)

Bill of Material

AFL NO.
| ospsP5 |-| XXX/xxx |
I
Assembly Code SUME Range Code

3.88" APPROX.

AFLglobal.com | 800.235.3423

N

ARMOR ROD

ITEM DESCRIPTION MATERIAL | AFL ORDWG. NO. | REQ'D REMARKS
1 Y-Clevis Eye Galvanized Steel | YCS-11 1 Pin Dia. = 0.75" (19 mm)
2 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
34.0" APPROX. (863 MM) BANDING MATERIAL
SUPPLIED BY
CUSTOMER
| 11/ AFL NO.
287" , ) AL [ osPsP6 |- [ XXX/XXX |
I
/ Assembly Code SUME Range Code

(INCLUDED WITH
SUSPENSION CLAMP) VIEW Y-y
Bill of Material
ITEM DESCRIPTION MATERIAL | AFL ORDWG. NO. | REQ'D REMARKS
1 Y-Clevis Eye 90° Galvanized Steel | YC90E-750-1750 |1 Pin Dia. = 0.75" (19mm)

2 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)

3 Eye Bolt Galvanized Steel
Banding Adaptor Aluminum

174

© 2008, AFL, all rights reserved. PP-3-00041, Revision 4, 2.5.2021

Specifications are subject to change without notice.




q Fl FIBER OPTIC CABLE HARDWARE

OPGW Double Suspension Lattice Tower Configuration Assemblies

2 N\% AFL NO.

, | owrss1 | — | xxx/xxx |
0] 0] I I
3 w2 ° Assembly Code SUME Range Code
Bill of Material
ITEM| DESCRIPTION MATERIAL | AFLORDWG. NO. | REQ'D REMARKS
1| Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
2 | Socket Clevis Galvanized Steel | SC-YP 1
3 | Clevis Eye Galvanized Steel | CE-SC 2
4 | Yoke Plate Galvanized Steel | SUMEYP 1
5 | Double Suspension | Aluminum ODSME XXX/XXX 1
(included)

\ | / AFL NO.

| owrss2 | — | xxx/xxx |
) ©) O | |
2 2 Assembly Code SUME Range Code
Lo\ I
Bill of Material
ITEM| DESCRIPTION MATERIAL | AFL ORDWG. NO. | REQ'D REMARKS
1 | Y-Clevis Clevis 90° | Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
2 | Clevis Eye Alum./Gal. Steel | CE-SC 2
3 | Yoke Plate Alum./Gal. Steel | SUMEYP 1
4 | Double Suspension | Alum./Gal. Steel | ODSME XXX/XXX 1
(included)
continued
—
AFLglobal_com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00034, Revision 2, 1.12.2021

175 Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

PAFI FIBER OPTIC CABLE HARDWARE

OPGW Double Suspension Lattice Tower Configuration Assemblies (cont,)

NS \@ P AFL NO.

_?/VO\\\% | oLrss3 | — [ xxx/xxx |
) o o - I I
> SUME Range Code

Assembly Code

Bill of Material

ITEM DESCRIPTION MATERIAL | AFL ORDWG. NO. | REQ'D REMARKS
1| Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
2 | Clevis Eye Galvanized Steel | CE-SC 2
3 | Yoke Plate Galvanized Steel | SUMEYP 1
4 | Double Suspension Aluminum ODSME XXX/XXX 1
(included)
AFLglobal.com | 800.235.3423 © 2008, AFL, all rights reserved. PP-3-00034, Revision 2, 1.12.2021

176 Specifications are subject to change without notice.



rAFL

OPGW Double Suspension Wood Pole/H-Frame Configuration Assemblies

3.0" (76 MM)

18.00" Approx.
(457 mm) v

i

FIBER OPTIC CABLE HARDWARE

fDm  0.63" (16 MM)

AFL NO.

| owpss1 |-| XXX/XXX |

Assembly Code

SUME Range Code

S NN
1 48.00" APPROX. | VIEW Y-Y
(1219 MM)
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Socket Clevis Galvanized Steel | SC-YP 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
3 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt, 0.63" (16 mm) Dia.
4 Clevis Eye Galvanized Steel | CE-SC 2
5 Yoke Plate Galvanized Steel | SUMEYP 1
6 Double Suspension (incl.) Aluminum ODSME XXX/XXX |1
1 18.00" APPROX. —
(457 MM) 3.0" (76 MM)
> AFL NO.
o= 053" 0MM) [ QWPSS2 |-[ XXX/XXX |
I I
Assembly Code SUME Range Code
‘ A
48.00" APPROX. VIEW Yoy
‘ (1219 MM) ‘
Bill of Material
ITEM DESCRIPTION MATERIAL AFL ORDWG. NO. | REQ'D REMARKS
1 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt, 0.63" (16 mm) Dia.
2 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
3 Clevis Eye Galvanized Steel | CE-SC 2
4 Yoke Plate Galvanized Steel | SUMEYP 1
5 Double Suspension (Included) | Aluminum ODSME XXX/XXX 1
AFLglobal_com | 800.235.3423 77 © 2008, AFL, all rights reserved. PP-3-00047, Revision 3, 2.8.2021

Specifications are subject to change without notice.

Fiber Optic Cable Hardware



Fiber Optic Cable Hardware

rAFL

OPGW Double Suspension Steel Pol

FIBER OPTIC CABLE HARDWARE

e/Drilled Configuration Assembly

18.00" APPROX. 3.0" (76 MM)
(457 MM) Y et 3\‘ g —
AFL NO.
S| | =
\ | ospss1 |-| xxx/mxxx |
0.63" (16 MM) I [
Assembly Code SUME Range Code
6
y L
\ 48.00" APPROX. \ VIEW Y-Y
: (1219 MM) ‘
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1| Socket Clevis Galvanized Steel | SC-YP 1
2 | Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
3 | Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt, 0.63" (16 mm) Dia.
4 | Clevis Eye Galvanized Steel | CE-SC 2
5 | Yoke Plate Galvanized Steel | SUMEYP 1
6 | Double Suspension (incl.) Aluminum ODSME XXX/XXX 1
18.00" APPROX.
1 (457 MM) Y= 3.0" (76 MM)
T~ AFL NO.
po= [ ospss2 |-[ xxx/xxx |
| |
\ Assembly Code SUME Range Code
0.63" (16 MM)
pu
48.00" APPROX.
‘ (1219 MM) VIEW Y-Y
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt, 0.63" (16 mm) Dia.
2 | Y-Clevis Clevis 90° Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
3 | Clevis Eye Galvanized Steel | CE-SC 2
4 | Yoke Plate Galvanized Steel | SUMEYP 1
5 | Double Suspension (incl.) Aluminum ODSME XXX/XXX 1
continued
—
AFLglobal_com | 800.235.3423 78 © 2008, AFL, all rights reserved. PP-3-00039, Revision 3, 6.11.2020

Specifications are subject to change without notice.



rAFL

FIBER OPTIC CABLE HARDWARE

OPGW Double Suspension Steel Pole/Vang Configuration Assembly

18.0" APPROX. Y <
(457 MM)
1\ T
3 ﬁ 3.25"
2 6.25" (83 MM)
| 48.0" APPROX. | o
| (1219 MM) | VIEW Y-Y
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS

1 Y-Clevis Clevis 90° Galvanized Steel YCC-90 1 Pin Dia. = 0.75" (19 mm)
2 | Clevis Eye Galvanized Steel | CE-SC 2
3 | Yoke Plate Galvanized Steel SUMEYP 1
4 | Double Suspension (incl.) | Aluminum ODSME XXX/XXX 1

18.0" APPROX.

(@57 M)

© 2008, AFL, all rights reserved. PP-3-00039, Revision 3, 6.11.2020

\ 48.0" APPROX.
| (1219 M) ! VIEW Y-Y
Bill of Material
ITEM DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D REMARKS
1 | Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
2 | Clevis Eye Galvanized Steel | CE-SC 2
3 | Yoke Plate Galvanized Steel | SUMEYP 1
4 | Double Suspension (incl.) | Aluminum ODSME XXX/XXX 1
AFLglobal.com | 800.235.3423 o

AFL NO.
0SPSS4 |-| XXX/XXX
Assem!)ly Code SUME R:!mge Code

AFL NO.

| ospPss5 |-| XXX/XXX |
Asseley Code SUME Ralnge Code

Specifications are subject to change without notice.

e Jzrdware

(.

Fiber O ti.





